

# Republic of the Philippines Province of Bataan City of Balanga

### OFFICE OF THE CITY MAYOR (047) 2372256 / 2372969 / 2373510

### NOTICE OF AWARD

21 MARCH 2022

MENDO ENTERPRISES
Block 11, Lot 12 Bulova Street,
South Fairview, Quezon City

Dear Sir/Madam:

We are happy to notify you that your bid dated March 14, 2022 for execution of the Supply and Delivery of Various Spare Parts for Repair and Maintenance of Service Vehicle and Heavy Equipment for use in the City Government of Balanga, for the Contract Price of equivalent to ONE MILLION SEVEN HUNDRED SIXTY ONE THOUSAND NINE HUNDRED SIXTY PESOS ONLY (P 1,761,960.00), as corrected and modified in accordance with the Instructions to Bidders is hereby accepted.

You are hereby required to provide within ten (10) days the performance security in the form and the amount stipulated in the Instructions to Bidders. Failure to provide the Performance Security shall constitute sufficient ground for cancellation of this award and forfeiture of your Bid Security.

Very Truly Yours,

FRANCIS ANTHONY S. GARCIA City Mayor

Conforme:

Date

2<sup>nd</sup> Floor, Balanga City Hall, Poblacion, Balanga City, Bataan 2100 cmo.cob@gmail.com

# Republic of the Philippines Province of Bataan City of Balanga OFFICE OF THE BIDS AND AWARDS COMMITTEE

#### RESOLUTION NO. 016 (Goods) S. 2022

#### BAC RESOLUTION DECLARING LCRB AND RECOMMENDING APPROVAL

WHEREAS, the City Government of Balanga posted the Invitation to Apply for Eligibility and to Bid for the Supply and Delivery of Various Spare Parts for Repair and Maintenance of Service Vehicle and Heavy Equipment at City Government of Balanga website and a conspicuous place at the premises of the City of Balanga continuously for 7 days;

WHEREAS, in response to the said advertisements, only MENDO ENTERPRISES purchased bid documents and submitted applications for eligibility and pass the preliminary examination of bids;

WHEREAS, the bid proposal of response to the said advertisements, MENDO ENTERPRISES were found to be substantially complying and upon careful examination, validation and verification of all the eligibility, technical and financial requirements submitted by the Bidder with the Lowest Calculated Bid, its bid has been found to be responsive;

**NOW, THEREFORE**, We, the Members of the Bids and Awards Committee, hereby RESOLVE as it is hereby RESOLVED;

a) To declare response to the said advertisements, MENDO ENTERPRISES as the Bidder with the Lowest Calculated and Responsive Bid for the following item:

NO.	DESCRIPTION	UNIT OF ISSUE	APPROX . QTY.	UNIT	TOTAL COST
1	Radiator assembly suspension type, 3Rose (4HF1)	pieces	3	12,400.00	37,200.00
2	Radiator assembly leaf spring, 3Rose (4HF1)	pieces	5	11,500.00	57,500.00
3	Radiator cap big 1.1	pieces	30	175.00	5,250.00
4	Radiator cap small 0.9	pieces	30	175.00	5,250.00
8	Oil filter 526	pieces	40	820.00	32,800.00
9	Air filter A-8579	pieces	40	5,800.00	232,000.00
11	Secondary clutch 4JB1	pieces	30	630.00	18,900.00
12	Fuel Filter 321	pieces	40	795.00	31,800.00
13	Clutch disc 4BE1 21T x 10.5"	pieces	4	2,890.00	11,560.00
15	Hydraulic oil #46 (18liters/pail)	pail	10	3,500.00	35,000.00
16	Hydraulic oil #68 (18liters/pail)	pail	10	2,800.00	28,000.00
20	Tire 8.25 x 16 16ply magaspang	set	40	11,420.00	456,800.00
21	Tire 7.00 x 16 12ply magaspang	set	30	7,795.00	233,850.00
22	Tire 4.50 x 12 8ply (Pinoy Trike)	set	20	2,850.00	57,000.00

## Republic of the Philippines Province of Bataan City of Balanga

#### OFFICE OF THE BIDS AND AWARDS COMMITTEE

ITEM NO.	DESCRIPTION	UNIT OF ISSUE	APPROX . QTY.	UNIT COST	TOTAL COST		
23	Tire 4.00 x 8 6ply (Bajaj)	set	30	1,980.00	59,400.00		
27	Engine Belt 4HG1 13x1015L1	pieces	100	320.00	32,000.00		
30	Thermostat (Nissan Urvan TD27)	pieces	20	1,050.00	21,000.00		
31	Engine Belt Toyota Commuter 7PK1490	pieces	10	1,700.00	17,000.00		
32	Engine Belt Toyota Innova 7PK1515	pieces	20	1,250.00	25,000.00		
33	Engine Belt Bulldozer 7PK1115	pieces	20	1,400.00	28,000.00		
34	Engine Belt Bachoe 8PK1430	pieces	20	2,160.00	43,200.00		
35	Engine Belt 4HK1 7PK1105	pieces	10	1,330.00	13,300.00		
36	Fuel Filter Element 408	pieces	10	595.00	5,950.00		
37	Release Bearing 4BE1	pieces	5	950.00	4,750.00		
38	Release Bearing Hinoprofia	pieces	5	2,390.00	11,950.00		
39	Engine oil Diesel 15W40	liter	500	210.00	105,000.00		
41	Air filter 503	pieces	40	275.00	11,000.00		
42	Battery Terminal	pieces	100	75.00	7,500.00		
43	ATF	liter	300	145.00	43,500.00		
44	Brake Fluid 900ml	bottle	300	215.00	64,500.00		
45	Car Freshener	can	50	220.00	11,000.00		
46	Chamois Cleaning Cloth Large (66x43cm/26x17in)	pieces	50	300.00	15,000.00		
	TOTAL CONTRACT PRICE			₱ 1,761,960.00			
	% VARIANCE FROM ABC	ATLAN	-1.99%				

b) To recommend for approval by the City Mayor of the City Government of Balanga the foregoing findings

RESOLVED, at the City of Balanga, this 16th day of March 2022.

# Republic of the Philippines Province of Bataan City of Balanga

### OFFICE OF THE BIDS AND AWARDS COMMITTEE

ENGR. MARILEN Z. ALONZO

City Assessor

Chairman, Bids & Awards Committee

MS. ELSA P. ILAGAN

CPDC Coordinator Vice Chairman, Bids and Awards Committee

MS. VELMEN T.)LAROZO
Asst. Dept. Head, CHRMO
BAC Member

ENGR MIGUEL SANCHEZ III

OIC, CEO BAC Member

MS. LILIBETH CALATA CGSO, Head BAC Member

MS. LILIBETH T. CALATA CGSO Head End-User

ATTESTED BY:

MS. VANESSA M AGUILAR BAC Secretariat Head

APPROVED:

HON. FRANCIS ANTHONY S. GARCIA
City Mayor